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PC: More Practice with Trig Identities Ms. Loughran
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fimg 850 single tngonométric lunclion.

1) Ipress
2)  Forall values of 8 for which the expressions are defined, sec 8 - tan 6 is equivalent to

— By 1 ) cosfh-cald D) =

sin q cos g

. 2 > o y
3) Ifsing =2 and # is m Quadrnt /, what is the valuc of (tan 8)(cos 0)?
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A) ; B + (= D) =
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4y The eapressior “ana I8 equivalent to
A) | B) coslx ) sin2 y D) cosx
5)  Forallvalues of x for which the expression is defined, sec x » ¢scx » cos v is equivalent (o
: L . e B 1
A) nx B) lanx C) sinx 1) oy
oo . sin2gcostg | i
6)  The expression =— . L equivalent 1o
A) sin@col 13) csch C) scch D) sinBcosacold

7y ‘Transformesc @ cos @ into an equivalent expression in terms of the (rigonometric function tan 8.

: L N
8)  The expression is cquivalent to
CsC )
o8 .
A) P B3) sing C) cosd D) tma
sIn< n

9)  The expression (tan 8)csc 0) is equivalent lo
A) secH 13 escBcoth C) csch ) cose.
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10) ‘Transform fan g MO an equivalent expression in lenms of the trigonometric function cos 6.
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1) l;\pmssg—l—r--:i - as asingle (igonometni¢ function,
cots gy

12) Epress cse2 0 -col29 -sin2 0 asa single tngonometric function.

13)  The expression sec2 0 +cse2 8 is equivalent to

1
A) 1+tan2 o By I-tan2p C) sin20cos2o B} s
sin? q cos? g
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Log (cot 8)is equivalent to

A) log (s 8)-log (cos ) (6]
B) log (sin 8) +log (cos #) m

Express scc 8 +sec 6 tan2 0 as a single trigonemetric function,

The expression sin2 x +cos2 x - 52 is equivalent to

A) (1+bY1-b) B) 52 8
The expression cos 8 (scc 8 - cos 8) is equivalent 1o

A) sing 13) | )
The expression :;—E’l is equivalent to

A) sin@ 3) cosa Q)

IExpress sec 6 tan 0 sin 8 as o single trigonometric funétion.

sin x 4 cos? x

The expression Teene 1S equivalent to
A) scex O
B) sinxescosx - lanx 1)

The expression (cos aXcesce « - sec «) is equivalent to
A) cota-] B) tap -1 )

log (cos 8)+log (sin #)
log{cos 6)- log (sin B)
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Cosx * lany
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For all values of & for which the expression is defined, P equivalent to

A) sing 13) col 8 )
—_— o besinZaA |
T'he expression S egs A Iscquivalent to
1
A) cos EA B) 2cos A O
The expression sin 8 (cot 8 - cse 8) s equivalent to
A) cos 8 -sin2g B) 2cos 6 C)
o $i0SsC O s stiio funcli
Express Teotg M8 single trigonometric function.
Simplify::tan2'6 cas2 § +cos2 @
A) costa B) sinZe )
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Express (1 +sin @)1 - sin 8) in terms of'cos 6.

The cii sin? A : val
The expression fan A 1S equivalent to

) sin-A B) s C)

cas A sin' A

tan 6
cos A
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-sin @
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If'sin A =k, then the value of the expression (sin A)(cos A)tan A) is equivalent to
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sin A cos A
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sinx.cosx-b

sin @

csc f

l-tan o

cos 6

sin A

cos @ -1

sin A cos A
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[Spress cot p I8 4 sigle trigonametric function.

The espression i h is equivalent 1
eNPress secy 1§ equivalent to

A) csc B) cos@ ) cotn
: . . s o ol A, y
For all values of A for which the expression is defined, :—qc-;-;' is equivnlent to
: 1
A) sind B) — C) cosd

cos A

Express tan 6 col 8 see 8 as a single trigonometric function.
Express cos2 8 +sin2 0 +tan2 8 us a single trigonometric function.
Express | -sin2 0 +cos2 @ as a single trigonometric function.

~ . y . sinx >
For which valuc of x is {(x) = vos ¢ undefined?

A) 3 B) = C) 0
2
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CNDICSS — g as a smgle tngonometric function.

Ipress cos 6 cse 0 as a single trigonometric function,

INpress ¢sc B - cot 0 cos 8 as a single trigonometric function.

" , . . 3 2 sinqg 1
Forall values of 8 for which the expression is defined, Mg cquivalent to

A) csch B) secH C) tanw
- . sin? B TR 3 _
I'he expression -~ -+ cos Bis equivalent to

o O) sin?B
A), D B 1 } sin<

Express 1 -cos2 @ as a single tigonomelric function.

2
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Express T s single trigonometric lunction,
' - CoRs

Expressed in simplest form, csc 8 « tan 0 * cos 8 is equivalent to
A) tan 8 B) cos 6 ¢y 1

D) sinb

D

D) cosa

D) sin@



